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. ـ  3
 ـ  4

. ـ  5
. ـ  6

9
9
8
8
8

=













¼

ع

4
0,50

0,50

1,2

1,2

0،60
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2112

2

5315

5

10

10

1040
10

5

5

30
12

12

6

)1(

=



-11   - 











⅛

ع

8
0,50

0,50

2,80

2,80

1,40

2112الزوجات

2

5715الأبناء

5

10

10

1080
10

5

5

70
28

28

14

)2(

=





















¼

⅓

ع

12

2

3

4

1,50

1,50

1,33

1,33

1,33

1,25

1,25

1,25

1,25

2312
3413
4514

12

12

12144

36
18

18

48
16

16

16

60

15

15

15

15
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)3(

=



بنت

زوجة

زوجة

زوجة

½

⅛ 

4

5
8

3113ال�وجات
1=33

3
15
12

1
1
1

0,33

0,33

0,33
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زوج

شقیقة

شقیقة

شقیقة

½

⅔

6
3

7

3413ال���قات
1=33

3
21

9
4
4
4

1,33

1,33

1,33



2 1

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







3

6 2
2













2
1
1

 

⅔

ع

 

2
 
1

39

3

3

3

1

3




  







.

. .


ر.ر الراجع أ مق  سھمھ عدده الفریق

3
3 1 2 3 الأخوات

3 1 1 3 أبناء 
الإخوة


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